'S
P‘?’:‘TL ) T

SARDAR PATEL UNIVERSITY

B.Sc. FIRST SEMESTER (CBCS) (NC) EXAMINATION
BIOLOGY- USOIERIO 01

LU LY i § A aiamESS

Date - 30-10-2018,'3'1!25&«;; _ Time - 2: 00:t0 4: .00 pm
T Total Marks: 0
Note : Draw neat and labeled diagrams wherever necessary.g
Q. 1 MULTIPLE CHOICE QUESTION o o | (19)

1. Which Vitamin is water soluble?
(a) Vitamin C (b) Vitamin £ (c) Vitamin D (d} Vitamin K

2. Which of the following is liquid connective tissue ?
(a) Muscle (b) Blood (c)Bone (d) Cartilage

3. Plasma membrane i$ the outer most iayer n__
{a) Plant cell (b} Animal cell  (c) Both a&b (d) None of these

4. Aduit butterflies can ingest ;
(a} Only liquid food {b) Only solid food
(c) Both solid and liquid food  (d) Only gases

5. Phrynosomna is the example of which adaptation?
(a) Burrowing (b) Aquatic (¢) Desert () Acrial

6. Which of the following is poisonous snake?
(a) Sand boa (b) Rat snake (c) Cobra (d) Python

7. Which of the foltowing is male reproductive organ in flower?
{a) Corolla (b) Gynoecium (¢) Calyx (d) Androecium

8. The pea plant climb by means of ------e--- o
{a) Hook (b) Thorn ('c') Tendril {d) Stem

9 ___is the Example of spices.
(a) Allmmcepu (b Triticum vulgare (c) Syzygium aromaticum (d) None of these

10. Chick pea and Pegion pea are _
(a) Fibre () (‘creaq {©) ‘iplces’ (d) Pulses
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Q.2 Answer the following in brief (Any Ten),

Write the function of calcium.

Name the types of connective tissue.

Write the function of cell wall.

List any five aquatic adaptations.

Briefly write the features of loss of weight in birds,
Name any four poisonous snakes. _
Define simpie leaf by giving example.

Define the word phyllotaxy,

Define the term tissue.

Write the uses of Tomato.

Write the economic importance of Teak. . :
Write the scientific name and family name of Wheat,
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Q.3 Write short notes on

(2) Types of WBCs (b) Sources, fuﬁctions and deficiency diseases of Vitamin

o OR
Q-3. (a) Describe Ardolar tissie,
(b) Describe the types of Epithelial tissue.

Q.4 Write short notes on: -
(a} Morphological characters of Snakes.
{b) Arboreal adaptation. -
OR
Q.4 Write short note on:

(a) Any three Non- Poisonous snake_:s.'
(b) Burrowing adaptations.

Q. 5 (a) Describe the parts ofa flower with suifablé diégran“_i_._.

OR

Q.5 (a) Describe the types of Compound Jeaf with diagrams, |

Q. 6 (a) Write the economic importaﬁce of Rice and Cotton:
(b) Give scientitic name, family and uses of Brinjal,

OR
Q. 6 (a) Write scientific name, family and uses of Potato.

(b) Give the economic importance of Sunflower and Groundnut.
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